Epicykloida — obycajna

c=r, R>0, r>0

x = (R+r)cos % — ccos (RLRr)t, y = (R+r)sin & — csin &Rr)t, tER.,
x = (R+r)cos¢p — ccos (R+r) y = (R+r)sing — csin @,@ER.

= (147)rcos % — rcos (lt‘_ﬂ)t = (1+m)rcos — rcos (1+m)¢p
y = (14m)rsin % — rsin “t:r)t y = (14+m)rsin@ — rsin (1+m)¢@
te(0; 19.47797) ) Yy p€e(0; 6.2m)

R=m7r,c=r
az iz
K K
t=20 =0

KIS I] [=]prel[+]

beerb@frcatel.fri.uniza.sk

E!@@HHEII

http://frcatel.fri.uniza.sk/ beerb


mailto:beerb@frcatel.fri.uniza.sk
http://frcatel.fri.uniza.sk/~beerb



